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Eltoaywyn otnv MAnpo@opiKn Kat TLg
TnAETUKOLVWVIEG

Mpbdodog

YToAELTtOpEVOG Xpovod: 1:0:17

Ot mapakdtw ackNOELS XPNOLUOTIOLOUV TIG EVTOAES TOU TEpLypdgpoviat atn dtagpavela 33 Tou
apyelo comp_arch2 (KepdAato 2 tou BiBAlou) kat avapépovtat Kat o KATw.

Op-code Operand Description

1 RXY LOAD the register R with the bit pattern found in the memory cell whose
address is XY. Example: 14A3 would cause the contents of the
memory cell located at address A3 to be placed

in register 4.
2 RXY LOAD the register R with the bit pattern XY.
Example: 20A3 would cause the value A3 to be placed in register O.

3 RXY STORE the bit pattern found in register R in the memory cell whose address
is XY.

Example: 35B1 would cause the contents of register 5 to be placed in the memory cell whose
address is B1.
4 ORS MOVE the bit pattern found in register R to register S.

Example: 40A4 would cause the contents of register A to be copied into
register 4.

5 RST ADD the bit patterns in registers S and T as though they were two’s
complement representations

and leave the result in register R.

Example: 5726 would cause the binary values in registers 2 and 6 to be added and the sum
placed

in register 7.

6 RST ADD the bit patterns in registers S and T as though they represented values
in floating-point

notation and leave the floating-point result in register R.
Example: 634E would cause the values in registers 4 and E to be added as floating-point values

and the result to be placed in register 3.

7 RST OR the bit patterns in registers S and T and place the result in register R.
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Example: 7CB4 would cause the result of ORing the contents of registers B and 4 to be placed in

register C.
8 RST AND the bit patterns in register S and T and place the result in register R.

Example: 8045 would cause the result of ANDing the contents of registers 4 and 5 to be placed
in

register 0.

9 RST EXCLUSIVE OR the bit patterns in registers S and T and place the result in
register R.

Example: 95F3 would cause the result of EXCLUSIVE ORing the contents of registers F and 3 to
be placed in register 5.

A ROX ROTATE the bit pattern in register R one bit to the right X times. Each time
place the bit that

started at the low-order end at the high-order end.

Example: A403 would cause the contents of register 4 to be rotated 3 bits to the right in a
circular

fashion.

B RXY JUMP to the instruction located in the memory cell at address XY if the bit
pattern in register R

is equal to the bit pattern in register number 0. Otherwise, continue with the normal sequence
of

execution. (The jump is implemented by copying XY into the program counter during the
execute

phase.)
Example: B43C would first compare the contents of register 4 with the contents of register 0. If
the two were equal, the pattern 3C would be placed in the program counter so that the next

instruction executed would be the one located at that memory address. Otherwise, nothing
would

be done and program execution would continue in its normal sequence.
C 000 HALT execution.

Example: C000 would cause program execution to stop.

Epwtnon 1 (EAevBepou Ketpévou — 2 Babuoi)

E€nyelote yLa mmoLo AGyo XpnoLHOTIOLOUVTAL OTA AELTOUPYLKA OUCTHHATA OL
Kataxwpnteg (Selkteg) Baong kat opilou kat oLo TpoRAnua AUVEL N

oeALdotolnon
B 7 U A A I EE=EE = = Y
@
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P 0AEZEIT

Epwtnon 2 (EreuBepou Ketpévou — 1.5 Babpol) v

XPNOLPOTIOLWVTAG TLG EVTOAEG TNG YAWOOAG HNXAVrG TToU avaAlovTat 0To
20 KE(pClN]LO Tou BBAlou ypayte eva npoypappa TIOU EAEYXEL QV n TN
OTO KeAL pvr]pr]q otn &tevubuvon 44 eival 0 tote tomobetel TNV TN 18
(6eKaSLKN TLUM O CUPTIANPpWHA WG TIPOG 2) otn esor] LVAPNG TNV TN 46
aAALWG Badel otn dteuBuvon pvApng 46 tnv TN -1 (CUPTIANPWHA WG TIPOG
5U0)

I U A A &P [ BF

[
n

O @

1444
2146
1500
7102
B401
315C
C000

p 7 AEZEIT

Ep(btr]or] 3 (EAeUBepou Kelpévou — 1 BaBpoC)
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XPNOLUOTIOLWVTAG TLG EVTOAEC TNG YAWOOAG PUNYAVAC TTou avaAUovTal 0To
20 KedaAato tou BLRAlou ypayte eva poypappa ou pndevidel ta pova
bits (1,3,5,7) evog aplBpou tou Bploketal otn B£on pvAung 13 kat
amoBnkeVeL To veo aplBpo otn Beon pvnung 14

B 7 U A A &P [ BF

RA =
Ky &

P OAEZEIT

Epwtnon 4 (ErsvBepou Ketpévou — 2 Babuoi)

payte Tov mivaka aAnBelag Tou Tapakatw KUKAwpatog. EEnyelote T
UAOTIOLEL
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Input Pattern

T~<H

I

QOutput Pattern

@ m— 7 —

I U A A &# [ BB

[ ]
n

9 w

p 0AEZEIT

Epwtnon 5 (MoAamirg Emhoyng (Movadikr Amavtnon) — 0.5 Badpol)

6. Mota aro ta mapakdtw mpoAnuata mpocbeong dev propet va Aubel pe
aKpLBsLa otav xpr]OLpOHOLsLtaL OUMBOALOHOG KLvr]tnq uno&aoro?xr]q or[
1O TIpWTO bit elval To pdonpo (sign bit), ta emdpeva tpila o ekBETNG
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(exponent pe amoBrjkeuon uttepPacnc TpLwv bit - excess-4), kat ta
TeAevTaia 4 elval To Tedlo onUaVopEVoU HEPOUG.

O 2",+33
O2' +'
O 31/2+41/2

% EkkaBaplon

Epwtnon 6 (zupmiipwon Keviv (Xarapr Tautomoinon) — 1 Babuoc)

Mooa bits ypetalopaote yla va avanapactnooupe 8192 dlapopetika
oxnuata bits (bit patterns)?

Xpelalopaote bits.

Epwtnon 7 (MoMamiig Emioyrc (Movasiki Amavtnan) — 1 BaBudc)

Mota amd ta mapakatw eivat n duadikr avarnapactacn Tou 6 5/8?
O 100.11
O 110.011
O 110.101

O 100.101

% EkkaBaplon

Epwtnon 8 (MoAamrig Emhoyrg (Movasdikr Atavinan) — 1 Babudc)
€ TIOLEG ATTO TLG TIAPAKATW TPooBeTelg Ba £xoupe TO TIPORANUA TNG
uTtEPXELALONG

O 00101
+ 01000

O 11N
+00001

O 01111

+00001 A
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% EkkaBdplon

MpoowpLvn arobrikeuon ‘ AkUpwon

‘ Oplotikn uTtoBoAR
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